Ver. 2 2015(17)

@& epd-norge

Global program operater

ENVIRONMENTAL PRODUCT DECLARATION

in accordance with ISO 14025, ISO 21930 and EN 15804

Owner of the declaration: Hunton Fiber AS

Program operator: 7he lorwegian (P " )oundation
Publisher: 7he lorwegian (P " )oundation
Declaration number: NEPD-2286-1041-EN
Registration number: NEPD-2286-1041-EN

ECO Platform reference number: -

Issue date: 06.07.2020- Rev. 10.11.2023
Valid to: 06.07.2025

Hunton Nativo® = ood )ibre %lown in Insulation

Hunton Fiber AS

A
P~
N
www.epd-norge.no A

HUNTON




General information

Product:

A HUNTON

Owner of the declaration:

+unton latiYo® - ood )ibre %lown In Insulation

Program operator:

Hunton Fiber AS

&ontact person: Thomas Lgkken
Phone: +47 815 10 033
e-mail: teknisk@hunton.no
Manufacturer:

7he lorwegian (P " )oundation
Pb 5250 Majorstuen, 0303 Oslo
Phone: +47 23 08 80 00
e-mail: post@epd-norge.no

Declaration number:

Hunton Fiber AS

Place of production:

NEPD-2286-1041-(1

ECO Platform reference number:

Gjovik, 1orwa\

Management system:

ISO 50001:2011
ISO 9001:2015
PEFC ST 2002:2013

This declaration is based on Product Category Rules: Org. no.:
CEN Standard EN 15804 serYes as core PCR 964 014 256
NPCR 012 Insulation materials, v.2 (06/2018).

Statement of liability: Issue date:

7he owner of the declaration shall be liable for the
underl\ing information and eYidence (P lorwa\ shall
not be liable with respect to manufacturer information life
c\cle assessment data and eYidences

Declared unit:

06.07.2020 - Rev. 10.11.2023

Valid to:

06.07.2025

Year of study:

Declared unit with option:

2015-2020
8pdated 2023

Comparability:

Functional unit:

(P~ of construction products ma\ not be comparable if
the\ do not compI\ with (1 and are seenin a
building conte[t

The EPD has been worked out by:

m wood fibre insulation installed in a thicNness of
mm and a thermal resistance of R  .m = from
cradle to graYe with a reference lifec\cle of  \ears

Verification:

Lars G. F. Tellnes Maciej Biedacha
@stfoldforskning AS NORSUS AS
. 4‘ 7 ‘/: e /{"._‘!.‘{T 1| 1 P f_:l;’ ,fln_ .

/

SU

EJstfoIdforskning> N(.p R

Independent Yerification of declaration and data in
accordance with 160

[ internal X e[ternal

$pproYed

7hird part\ Yerifier

hatofe  Jkaar

Christofer, Skaar, PhD
Independent Yerifier approYed b\ (P~ lorwa\

ek, go@“@

Hakon Hauan
(Oanaging "irector of (P* lorwa\)

NEPD-2286-1041-EN Hunton Nativo® Wood Fibre Blown-In Insulation hbdated 161123

2/9


Christofer.Skaar
Typewritten text
x


Product

Product description:

+unton latiYo® = ood )ibre %lown In Insulation is
produced b\ defibration of wood chips which are then
mi[ed with additiYes for structure and fire resistance
8sed for thermal insulation of walls roofs and ceilings in
buildings

Product specification:
7he material is homogenous and will not Yar\ with si]e
7he /&$ calculations are done based on a densit\ of

Ng m

Materials kg %

- ood fibre dr\ weight 1,09 85,8 %
- ater 0,10 8,0 %
Amonium phosphate 0,06 51%
Paraffin wa[ 0,01 1,1%
Total for product 1,27 100,0 %
- ooden pacNaging 0,05

Plastic pacNaging 0,01

Total with pacNaging 133

LCA: Calculation Rules

Functional unit:

1 m wood fibre insulation installed in a thicNness of
mm and a thermal resistance of R .m = from cradle
to graYe with a reference life c\cle of  \ears

I il A2 A4 AS
Uil er s Transport til Installering i

Transport av T
Fabrikasjon byggeplass konstruksjon

1 fremstilling 2
rvarer

av ravarer

1 Flislagring

. Energi til

1 Sl innblasning

. De-

1 fibrillering

1 Transport av Transport til

. rématerialer Tarking byggeplass

| med lastebil med lastebil

1

! Produksjon Mz Avfalls-
av handtering

| tilsetnings- av

stoffer emballasje

\ Pakking

N
: xﬂistemgrense vugge-tr'i—port/

NEPD-2286-1041-ENHuntonNativo®Wood Fibre Blown-Ininsulation Updated11123

A HUNTON

Technical data:

+unton latiYo® = ood )ibre %lown In Insulation has a
thermal conductiYit\ of & R) - m.ata
densit\ of Ng m “eclared thermal conductiYit\ and
the product itself is in accordance with the reTuirements in
1 which is confirmed in 6117 () %\ggforsN
productcertificate nr

Market area:

lordics scenarios in /&$ haYe been calculated based
on use in 1orwa\

Lifecycle:

Reference lifec\cle is the same as that of the
construction usuall\ setto  \ears 7his is based on
O O )"V forthe product and the assumptions therein

System Boundary:

)lowchart for the entire lifec\cle $ & with s\stem
boundaries has been shown in the diagram below Oodul *
has also been included outside the lifec\cle with energ\ and
material substitution from rec\cling and is elaborated upon
under the scenarios

Y
A
]
c2 c3 c4 . b
B1-B7 c1 Transport til Slutt-
Bruksfase Demontering avfalls- h;‘:::::firn behandling I I?‘ey:'_?n:?:
behandling e av avfall 1 el e

Substitusjon

Energi- A

e fjernvarme
gjenvinning

ved energi-
gienvinning

Transport til

B1-B7 Ingen Energi til vl Deponering
aktivitet riving dli av aske

med lastebil

Substitusjon
av metaller
ved
resirkulering

Separering
av metaller
fra aske

Systemgrense vugge-til-grav e

3/9



Data quality:

" ata for the production of wood fibre insulation is based on half
a \ear of production in Yor the raw material wood chips it
is based on ecoinYent and updated with 1orwegian data 7he
remaining data is based on ecoinYent Y but adliusted to
improYe representatiYit\ ecoinYentY  was launched in

and no data is older than  \ears $Il energ\ consumption in
database figures are assumed not used as raw material

Allocation:

$llocation has been made in accordance with proYisions of (1
(lectricit\ consumption in production has been allocated

b\ specific energ\ consumption for the Yarious products while

remaining energ\ consumption water waste and internal

transport haYe been allocated b\ mass across products Impact on

the primar\ production of rec\cled materials has been allocated
to the main product where the material was used In the Yalue
chain for timber economic allocation has been used

LCA: Scenarios and other technical information

A HUNTON

Cut-off criteria:

$ll important raw materials and all significant energ\
consumption haYe been included 7he production process for
the raw materials and energ\ flows inYolYed as Yer\ small
amounts haYe not been included 7hese cut off criteria
do not appl\ for haJardous materials and substances

Calculation of biogenic carbon content:

$bsorbance and release of carbon dio[ide from biological

origin has been calculated based on 16 (1

7his method is based on the principle of modularit\ in (1
where release must be counted in the lifec\cle

module where it actuall\ happens 7he amount of carbon

dio[ide has been calculated in accordance with 16 (1
7he net contribution to * = P from biogenic

carbon is shown for each module on page  7imber comes

from sustainable forestr\ and features P() & certified

traceabilit\

7he following information describes the scenarios for the modules in the (P *

Two transport scenarios for transport in module A4 haYe been assessed in this EPD. 7he first scenario assumes a transport

distance of

Nm with a large trucN to an intermediate storage. )urther it is assumed a transport distance of 50 km with a

medium si]ed trucN. 7he second scenario assumes transport directl\ to a construction site with a distance of Nm.

Transport from production location to user (A4)

Type &apacit\ utilisation incl return Vehicle t\pe Distance km |)uel (nerg\ 8nit
consumption

&ar 50,3 EUROG, >32 tonn 250 0,024 I/tkm

&ar 47,8 EUROG, 16-32 tonn 50 0,042 I/tkm

&ar 50,3 EUROG, >32 tonn 300 0,024 I/tkm

In the construction phase | diesel for blow in and a
wastage of is assumed : aste treatment of the pacNaging is
also included

Construction Phase (A5)

7here are no /&$ related enYironmental impacts during use

Installed products in use (B1)

8nit Value 8nit Value

$u[iliar\ materials m*® 0 Relevant emissions during use kg 0
$u[iliar\ materials kg 0

$uliliar\ materials kg 0

- ater consumption m° 0

(lectricit\ consumption MJ 0

Other energ\ sources diesel for blow in MJ 0,061

Material loss kg 0,025

Materials from waste treatment kg 0,060

" ust in the air kg 0

NEPD-2286-1041-EN Hunton Nativo® Wood Fibre Blown-In Insulation hbdated 161123

4/9



7KH SURGXFI QRUP DI\ UHTXLWHV QR PDLQIHQDQFH RU UHSDL

Maintenance (B2)/Repair (B3)

,Q D QRUPDI VIIXDILRQ WKH SURGXFI UHTXLWHV QR UHSIDFHPHQW

GXULQJ WKH FRQVIUXFILRQ V ILIHF\FIH
ReplacePent (B )/RenRYatiRn (B )

A HUNTON

7Ke SrRGuct KaV nR enerJy Rr Zater cRnVuPStiRn in RSeratiRn

(nerg\ (B6) anG Zater cRnVXPptiRn in RperatiRn (B7

Unit | Value Unit | Value

Maintenance frequency* p 0 5eSlacePent frequency* year 60
Maintenance frequency* kg 0 (lectricity kWh 0
2tKer reVRurceV kg 0 5eSlacePent Rf ZRrn SartV 0 0

- ater cRnVUPStiRn kg 0

(lectricity cRnVuPStiRn MJ 0

2tKer enerJy VRurceV MJ 0

Material IRVV kg 0 * Value Rr 56/ 5eference 6erYice /ife

7Ke SrRGuct can Ee VRrteG aV Pi[eG ZRRG ZaVte at tke
cRnVtructiRn Vite anG PanaJeG ZitK enerJy recRYery

(NG RI /ile (C1, C3, C4)

Unit Value Unit | Value
= ater cRnVuPStiRn m> 0 +aJarGRuV Zavte kg 0
(lectricity cRnVuPStiRn kWh 0 Mi[eG ZaVte 2tKer kg 1,27
enerJy VRurceV MJ 0 5ecyclind kg 0
+eatinJ effect Rf tke equiSPent kW 0 S5ecirculatiRn kg 0
Energy recRYery kg 1,27
)Rr ZaVte GeSRVit kg 0
7ranVSRrt Rf ZRRG ZaVte iV EaVeG Rn tKe aYeraJe GiVtance fRr in 1RrZay anG PaNeVuS NP 5aaGal et al
Transport tR ZaVte PanaJePent (C2)
Type f ARVEciom A VeKicle tyRe Distance km [)uel/(nerdy Value
&asSacity utilivVatiRn incl return
vy cRnVuPStiRn (I/t)
&ar UnVSecifieG 85 0,027  l/itkm 2,3

7Ke JainV frRP e[SRrteG enerJdy frRP enerJy recRYery in PuniciSal ZaVte facilitieV KaYe Eeen calculateG ZitK reSlacePent Rf
1RrZeJdian electricity Pi[ anG 1RrZeJian GiVtrict KeatinJ Pi[ " ata fRr electricity Pi[ iV tke VaPe aVtkatuveGin$ $ anG

GiVtrict KeatinJ Pi[ iV EaveG Rn tke SrRGuctiRn

BenelitV anG (RaGV Ee\RnG tKe V\VteP ERXnGarieV (D)

Unit Value
SubstitutiRn Rf electrical enerJy MJ 1,6
SubstitutiRn Rf tkerPal enerdy MJ 13,3
GUEVtitutiRn Rf raZ Paterialv kg 0

NEPD-2286-1041-EN Hunton Nativo® Wood Fibre Blown-In Insulation Updated 101123

5/9



A HUNTON

LCA: ResultV
7Ke reVultV fRr JIREal ZarPinJ in tKe YariRuV PRGuleV return a larJe cRntriEutiRn frRP aEVRrEance anG releaVe Rf EiRJenic
carERn 7Ke net cRntriEutiRn frRP EiRJenic carERn in eacK PRGule iV VKRZn Rn SaJe

+untRn SrRGuceV ZRRG fiEre inVulatiRn at tKeir neZ factRry at Skjerven Ey Gjgvik. 7Ke factRry KaV nR Girect ePiVViRnV tR tKe
enYirRnPent RtKer tkan frRP internal tranVSRrt. 6tartind frRP 2023 Hunton KaV acquireG a certificate Rf RriJin, enVurinJ tKat
electricity cRnVuPeG at tKe factRry VtePV frRP reneZaEle enerJy VRurceV 7Ke resultV presenteG in tKiV GRcuPent iV calculateG
EaVeG Rn electricity SrRGuceG frRP Zater SRZer Hunton iV cRntinually optimi]inJ tKeir SrRGuctiRn SrRceVVeV at tke
factRry. &RnVequently it iV e[SecteG tKat anRtKer reYiViRn Rf tKe reVultV iV requireG in

6yVteP ERunGarieV (X = includeG, M1D = Module 1Rt " eclareG, M1R = MRGule 1Rt 5eleYant)

i Benefit d load
3rRGuct Vtade |. &RthTUCt'Rn UVe VtaJde (nG Rf life VtaJe beyond the system
inVtallatiRn VtaJde boundary
Low]
. | £
. s 5|3 2¢
= o = € > - ) T ®
8 e = < 8 § E s S 2 i e | 3 = % 3
Q o Q o < [ = 2 «© o o © — o =
IS Q o =3 = ) S - 3 < o N o ] e S o) - ©
o 2 E 2 = = g = 8| z 2e B E 2 2| 8| £ £ 0
s | &§| 8 ' 2| 5 o |2 | s | & | €53 g 8 = 5 >
N (= s (= x 5 @ 3 @ x P Enq = (= 2 = NS
19} B = i 0 = 05 © S g = © € >
= ‘aj > () E 1 = 9 %
= n g D ¥ © ?«:) 5}
= NG N "
o
]
Al A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D
X X X X X X X X X X X X X X X X X
(nYirRnPental iPSact
Parameter Unit Al-A3 A4* A4** A5 B1-B7
GWP kg CO,-equiY -1,84E+00 4,76E-02 4,30E-02 8,51E-02 0,00E+00
ODP kg CFC11-equiY 4,24E-09 8,89E-10 8,10E-10 2,19E-09 0,00E+00
POCP kg CoH,4 -equiY 1,72E-04 7,26E-06 6,62E-06 4,63E-06 0,00E+00
AP kg SO, -equiY 3,62E-03 9,27E-05 8,60E-05 1,32E-04 0,00E+00
= -
EP kg PO,”-equiY 2,46E-04 1,30E-05 1,22E-05 1,85E-05 0,00E+00
ADPM kg Sh-equiY 2,06E-06 1,41E-07 1,22E-07 8,38E-08 0,00E+00
ADPE MJ 3,70E+00 7,07E-01 6,49E-01 2,09E-01 0,00E+00
(nYirRnPental iPSact
Parameter Unit C1l Cc2 C3 C4 D
GWP kg CO,-equiY 2,59E-04 1,37E-02 2,06E+00 3,37E-04 -1,38E-01
ODP kg CFC11-equiY 8,89E-12 2,57E-09 9,46E-10 1,15E-10 -1,59E-08
poCP kg CzH, -equiv 7,30E-08 1,79E-06 4,00E-06 9,56E-08 -1,86E-04
AP kg SO, -equiY 1,63E-06 5,28E-05 1,20E-04 2,29E-06 -8,67E-04
3- .
EP kg PO4~-equiv. 1,53E-07 9,30E-06 3,19E-05 4,17E-07 -2,69E-04
ADPM kg Sb-ekv 3,06E-08 4 57E-08 3,69E-08 4,53E-10 -9,87E-07
ADPE MJ 1,80E-03 2,08E-01 1,30E-01 1,08E-02 -1,63E+00
*Transport scenario ZitK interPeGiate VtRraJe.
**Transport scenario directly tR cRnVtructiRn Vite.
* - 3 *IREal - arPinJ 3Rtential 2~ 3 6tratRVSKeric R]Rne GeSletiRn SRtential 32&3 3KRtRcKePical R]JRne creatiRn SRtential $3 $ciGificatiRn
SRtential Rf lanG anG Zater (3 (utrRSKicatiRn SRtential $*3M $EiRtic GeSletiRn SRtential fRr nRn fRWVil reVRurceV $ = 3 ( $EiRtic GeSletiRn
SRtential fRr fRVVil reVRurceV

NEPD-2286-1041-EN Hunton Nativo® Wood Fibre Blown-In Insulation Updated 101123 6/9


Christofer.Skaar
Typewritten text
Benefits and loads
beyond the system
boundary


A HUNTON

Resource use

Parameter Unit A1-A3 A4* A4x* A5 B1-B7

RPEE MJ 1,46E+01 1,06E-02 9,56E-03 1,47E+00 0,00E+00
RPEM MJ 2,17E+01 0,00E+00 0,00E+00 -7,52E-01 0,00E+00
TPE MJ 3,63E+01 1,06E-02 9,56E-03 7,16E-01 0,00E+00
NRPE MJ 3,00E+00 7,22E-01 6,62E-01 2,22E-01 0,00E+00
NRPM MJ 1,11E+00 0,00E+00 0,00E+00 1,04E-02 0,00E+00
TRPE MJ 4,11E+00 7,22E-01 6,62E-01 2,32E-01 0,00E+00
SM kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
RSF MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
NRSF MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
W m° 6,16E-03 1,38E-04 1,32E-04 1,56E-04 0,00E+00

Resource use

Parameter Unit C1l Cc2 C3 C4 D

RPEE MJ 4,19E-02 3,00E-03 2,08E+01 1,93E-04 -1,32E+01
RPEM MJ 0,00E+00 0,00E+00 -2,07E+01 0,00E+00 0,00E+00
TPE MJ 4,19E-02 3,00E-03 3,94E-02 1,93E-04 -1,32E+01
NRPE MJ 4,35E-03 2,13E-01 7,29E-01 1,12E-02 -2,09E+00
NRPM MJ 0,00E+00 0,00E+00 -5,95E-01 0,00E+00 0,00E+00
TRPE MJ 4,35E-03 2,13E-01 1,34E-01 1,12E-02 -2,09E+00
SM kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
RSF MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 -8,08E-04
NRSF MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
W m® 2,31E-06 3,92E-05 3,09E-04 1,28E-05 -1,24E-03

RPEE Renewable primary energy resources used as energy carrier; RPEM Renewable primary energy resources used as raw materials;
TPE Total use of renewable primary energy resources; NRPE Non renewable primary energy resources used as energy carrier; NRPM Non
renewable primary energy resources used as materials; TRPE Total use of non renewable primary energy resources; SM Use of secondary
materials; RSF Use of renewable secondary fuels; NRSF Use of non renewable secondary fuels; W Use of net fresh water

End of life - Waste

Parameter Unit Al1-A3 A4* A4** A5 B1-B7

HW kg 1,15E-05 4,51E-06 4,12E-06 3,14E-07 0,00E+00
NHW kg 6,45E-01 6,31E-02 6,38E-02 2,08E-02 0,00E+00
RW kg 3,94E-06 2,24E-07 2,02E-07 1,43E-06 0,00E+00

End of life - Waste

Parameter Unit Cl C2 C3 C4 D

HW kg 4,12E-09 5,42E-07 3,41E-07 4,49E-09 -2,02E-06
NHW kg 7,28E-04 1,59E-02 1,61E-02 6,29E-02 -8,28E-02
RW kg 4,37E-08 1,44E-06 2,77E-07 6,59E-08 -1,22E-05

|HW Disposed hazardous waste; NHW Disposed non-hazardous waste; RW Disposed radioactive waste |

End of life - Output

Parameter Unit Al1-A3 A4* A4** A5 B1-B7

CR kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
MR kg 1,32E-02 0,00E+00 0,00E+00 1,21E-02 0,00E+00
MER kg 3,58E-04 0,00E+00 0,00E+00 1,40E-03 0,00E+00
EEE MJ 2,00E-02 0,00E+00 0,00E+00 3,30E-02 0,00E+00
ETE MJ 2,13E-01 0,00E+00 0,00E+00 2,71E-01 0,00E+00

End of life- Output

Parameter Unit C1l Cc2 C3 C4 D

CR kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
MR kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
MER kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00
EEE MJ 0,00E+00 0,00E+00 1,63E+00 0,00E+00 -1,63E+00
ETE MJ 0,00E+00 0,00E+00 1,33E+01 0,00E+00 -1,33E+01

CR Components for reuse, MR Materials for recycling, MER Materials for energy recovery, EEE Exported electric energy; ETE Exported
thermal energy

Reading example: 9,0 E-03 = 9,0+10° = 0,009

NEPD-2286-1041-EN Hunton Nativo® Wood Fibre Blown-In Insulation Updated 101123 7/9



A HUNTON
Additional Norwegian requirements
Greenhouse gas emission from the use of electricity in the manufacturing phase

National consumption mix with import on medium voltage (production of transmission lines, in addition to direct emissions and
losses in grid) has been applied for electricity in the manufacturing process (A3).

Amount 8nit
gram CO,-eTuiv./kWh
gram CO,-eTuiv./kWh

Data source
Ecoinvent v3.5 (2018) 28,4
Electricity 100% water power GOO 8,8

Dangerous substances
7he product contains no substances given by the 5(A&+ &andidate list or the Norwegian priority list
[] 7he product contains substances given by the 5(A&+ &andidate list or the Norwegian priority list that are less than ,
0 7htéyp\)/}/§| urtl:tt contains dangerous substances, more then by weight, given by the 5(A&+ &andidate /ist or the
Norwegian 3riority list, see table.
Ll 7he product contains no substances given by the 5(A&+ &andidate list or the Norwegian priority list. 7he product is

classified as ha]ardous waste (AvfallsforsNiften, Annex ,,,), see table.

According to available documentation, the product does not contain any

ha]ardous substance.

Transport

&entral storage is as the same location as the factory 0 km
Indoor environment

7he product is not tested for emissions to the indoor environment

Carbon footprint
,n order to increase the transparancy of biogenic carbon contribution to climate impact, the indicator for G = 3
has been sub divided into the following

GWP-10BC &limate impacts calculated according to the principle of instantanious oxidation.

GWP-BC &limate impacts from the net uptaNe and emission of biogenic carbon from each module.

&limate impacts

Parameter Unit Al1-A3 A4* A4** A5 B1-B7
GWP-IOBC | kg CO,-eTuiv. 2,30E-01 4,76E-02 4,30E-02 1,33E-02 0,00E+00
GWP-BC kg CO, -eTuiv. -2,07E+00 0,00E+00 0,00E+00 7,18E-02 0,00E+00
GWP kg CO, -eTuiv. -1,84E+00 4,76E-02 4,30E-02 8,51E-02 0,00E+00
&limate impacts

Parameter Unit C1 C2 C3 C4 D
GWP-10BC kg CO, -eTuiv. 2,59E-04 1,37E-02 5,66E-02 3,37E-04 -1,38E-01
GWP-BC kg CO, -eTuiv. 0,00E+00 0,00E+00 2,00E+00 0,00E+00 0,00E+00
GWP kg CO, -eTuiv. 2,59E-04 1,37E-02 2,06E+00 3,37E-04 -1,38E-01

Climate declaration physical electricity mix
70 increase transparency in the contribution to climate impact, the results for module A A3 and the G = 3 indicator are presented in the

table. 7he Norwegian marNet mix with imports at medium voltage has been applied in this assessment.

Parameter Unit A1-A3
GWP-IOBC | kg CO,-eTuiv. 2,46E-01
GWP-BC kg CO,-eTuiv. | -2,07E+00
GWP kg CO,-eTuiv. -1,83E+00

NEPD-2286-1041-EN Hunton Nativo® Wood Fibre Blown-In Insulation Updated 101123

8/9



Bibliography
NS-EN ISO 14025:2010

NS-EN ISO 14044:2006

NS-EN 15804:2012+A1:2013
ISO 21930:2007

NS-EN 16449:2014

NS-EN 16485:2014

NPCRO012 v.2
Ecoinvent v3.5
6tatistics Norway
6tatistics Norway
6tatistics Norway

Tellnes et al. (2023)
Raadal et al. (2009).
SINTEF Byggforsk (2019)
EN 15101-1

Hunton Fiber (2019)

A HUNTON
Environmental labels and declarations - Type Ill environmental declarations -
Principles and procedures
Environmental manaJement - Zile cycle assessment - 5eTuirements and Juidelines

6ustainability ol construction ZorNs - Environmental product declaration - &ore rules
lor tKe product cateJory ol construction products

Sustainability in building construction - Environmental declaration of building products
= ood and Zood-based products - &alculation ol tke bioJenic carbon content ol Zood
and conversion to carbon dio[ide

5ound and saZn timber - Environmental Product ® eclaration - Product cateJory
rules lor Zood and Zood-based products lor use in construction

Product category rules for insulation products

Swiss Centre of Life Cycle Inventories. www.ecoinvent.ch

Table &onsumption ol luel used lor Jross production ol district KeatinJd
Table " istrict KeatinJ balance
Table 1et production ol district KeatinJd by type ol Keat central

Tellnes, L. G. F., Biedacha M. (2023). LCA-report for Hunton Fiber AS. Report nr. OR.28.23
from NORSUS, Krakergy, Norway.

Raadal, H. L., Modahl, I. S. & Lyng, K-A. (2009). Klimaregnskap for avfallshandtering, Fase |
og Il. Oppdragsrapport nr 18.09 fra @stfoldforskning, Norge

lor +unton lative treliberisolasion Publisked by 611TE)
ZitK validity to

Product &ertilicate nr
%yJJlorsN in and revised in

TKermal insulation products lor buildinJ - In-situ lormed loose lill cellulose /)&l products -
Part  6pecilication lor tke products belore installation

020 documentation +unton lativo = ood )iber Insulation %loZn-in

Programme operator and publisher 3hone +47 23 08 80 00
@ ep d-no rge | 7meNowegan (3" youndaton
Pb. 5250 Majorstuen, 0303 Oslo e-mail: post@epd-norge.no
The Norwegian EPD Foundation Norway web WWW.epd-nOrqe.nO

N Owner of the declaration 3hone: +47 815 10 033

5* H Hunton Fiber AS

§\ U NTON Niels @degaards gate 8, 2810 Gjgvik e-post: teknisk@hunton.no
Norway web www.hunton.no
Author of the Life Cycle Assessment 3hone: +47 69 35 11 00

@Stf@ldfo rskni n Lars G. F. TeI_Ines Fax . +47 69 34 24 94 _
g @stfoldforskning AS e-mail: post@ostfoldforskning.no

Stadion 4, 1671 Krakergy, Norge web www.ostfoldforskning.no

NEPD-2286-1041-EN Hunton Nativo® Wood Fibre Blown-In Insulation Updated 101123 9/9



